NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

Section A (Question No. 1 to 70)

In a Power Plant a reserve generating capacity which

IR WIie § Ueb ol SFRICT &HdT o TR A g

is in operation but not in service, is known as: qiﬂf”a X ﬁf. Tﬁ% Cal WW; %: f
A) Hot reserve B) Cold reserve 'é) %Fﬁn ol g) N
C) Spinning reserve D) Firm power ) A
Which Lightening stroke is most dangerous: A‘ )I NI Qﬂﬁiﬁiﬁ%g TSI T Fo GaAIP
A)Direct stroke on tower top

: : B) SHHIF & R TR Y&l 3o
B) Direct stroke on ground wire A PR ST
C) Direct stroke on line conductor g) FERT &r;;g?iﬁw
D)Indirect stroke on conductor )
Transmission efficiency increases as: l E”i IQI ' g’%l?ﬂ ¢ ‘_’"?ﬁ %ggg EW
A)Voltage and Power factor both increase ';) :::tt\\: iR :::: ;p:z: A A %% Sl =
B) Voltage and Power factor both decrease C) Srever ff 9% T TR e o Qi o
C) Voltage increase but power factor decrease D) e FHH d ESR € 3tz a2
D) Voltage decrease but power factor increase ) R TR
When Alternating Current passes through a conductor: E JATddl YRT H8dex I ol g ar:

A)It remains uniformly distributed throughout the
section of conductor

B) Portion of conductor near the surface carries more
current as compared to the core

C) Portion of conductor near the surface carries less
current as compared to the core

D)Entire current passes through the core of the
conductor

A) T8 e & N WS H gAH ¥ I faaRa gt @
B) g & UM hadex &I U DR Pi ga-1 T 31
PHC g Bl §

C) A8 & NI dheder T U HR &I gl § &4
e a8 Bl §

D) TYUT e Hheder $i HR I ToRdl o

The effective resistance of a conductor will be the
same as “ohmic resistance”, when:

A) Current is in true sine wave form

B) Voltage is low C) Power factor is unity
D)Current is uniformly distributed in the conductor
cross section

TP PHaaed ®l JHIA! TfaRiy "3l afeRly” &

A g, afe:

A) HE T T T EY H gl
aﬁéﬁrméﬁm C) UTeR Thaex U H BT

%L;raac Hede HIY Yav A IHH ©U I fadid

Skin effect depends on: lia;,' THTd AR Bl &:
, A) HEII & HHR W
A) Size of the conductor B) @¢e Y SR |
B) Frequency of the current C) . geref & g -~
C) Resistivity of the conductor material ) PSHES Il
D) SR gt

D) All of the above

In overhead transmission lines the effect of the
capacitance can be neglected when the length of the

Jidkgs CNMERM dRl § $URcy & uﬁﬁ
SURE foar o1 Oear Ol aRd I e

line is less than: AHI T

A) 200 km B) 160 km A) 200 foit B) 160 fobedt

C) 100 km D) 80 km C) 100 fit D) 80 ftit

The surge impedance for overhead line is taken as: SIERES TIE b fere ot SUIS febarl ol STl e

A) 10 - 20 3iH B) 50 - 60 3fiH

£4)10=20 ohms E) 30~ 60 ohms C) 100 - 200 3N D) 1000 - 2000 31
C)100 — 200 ohms D)1000 — 2000 ohms

Pin insulators are normally used up to voltage of = 5'{181 CX HMHId: T diecsl db

about: IUGNT T I &:
A) 100KV B) 66 KV A) 100 odt B) 66 ddt
C) 33KV D) 25 KV C) 33 Fal D) 25 %dl
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10 | Corona usually occurs when the electrostatic stress | @RIHI JHIG: dd 8Id] & o8 Dheder B AN
in the air around the conductor succeeds: gar o saq@éﬂ\:m GEIE) T Y g &:
A) 30 KV (maximum value)/cm A) 30 &l (3HfAHad AF) / Jt
B) 22 KV (maximum value)/cm B) 22 &l (3{fUHay A / It
C) 11 KV (rms value)/cm C) 11 Hdl (SRTATY AM) / JHt
D) 6.6 KV (rms value)/cm D) 6.6 dhdll (3IRUATY A1) / Tt
11 | When the power is to be transmitted over a distance | gf¢ el 500 forHt g1 TR HaTRd HT ST 8, O
of 500 km, the transmission voltage should be in the | AR dleed 37°[ IS 4 gHT AR
range of: A) 33 Pl - 66 c B) 66 ddl - 100 ohal
A) 33KV -66KV B) 66 KV — 100 KV C) 110 T - 150 P D)1soawﬁ-zzo%mﬁ
C)110 KV - 150 KV D) 150 KV — 220 KV
12 | Litz wires are used for intermediate frequencies, to | feTesl ART &1 SUTNT HeAdc MR & forg fova
overcome: SITe, ey Hd & o forg:
A)Corona effect B)Skin effect ﬁﬁm UHIg B) &1 Uy
C)Radio interference D)AII of the above Q‘%'Cﬁ SETE@? D) SWRIad gt
13 | In order to reduce skin effect at UHF: !;_thlkth R &p UHTd HH B & T
A) Conductors are painted A) HSFR TSI §
B) Conductors are anodized B) FHeae TSR [ Sd g
C) Copper tubes with silver plating are used C) Tic} T B8 dd B oIF T IUTNT {1 S 8
D) Copper rods with silver plating are used D) T} T¢I G5 dis B! BS PI SUANT (641 9Tl §
14 | A Relay used on long transmission lines is: el SRR A8l R SXdHTd fohdT o dTelt R &
A) Mho’s Relay B) Reactance Relay A) @ o B) Ruadw Rat
C)Impedance Relay D) No Relay is used C) sds Ra D) farsit el BT SUTNT =151 giell
15 | The function of steel wire in a ACSR conductor is: Qﬁ@aﬂ? Iep A X & dR T DB T 87
A)To take care of surges  B)To prevent corona A) o B (A&l HIAT B) BRI B! Al
C)To reduce inductance and hence improve Power C) S3HY B! HH BT 3R TR Paex H JUR
factor BT
D)To provide additional mechanical strength D) SHfaRad FifFe Yfad USH BT
16 | Boosters are basically: TROAFIT__ G
A) Inductors B) Capacitors A) EEINED B) TR
C) Transformers D) Synchronous motors I D) ﬁiﬁﬂﬂ lﬂEﬁ
17 | Which of the following short circuit is the most ﬁyi%r@a T DI AT MC Fiohe Jad WD 67
dangerous: A) TR AR TIC Gidhe B) IS N¢ Alhe
A)Line to line short circuit B)Dead short circuit OXSIEL K S 9 gihe
C)Line to ground short circuit D) TS ¢ A1S 3R e e e afdhe
D)Line to line and ground short circuit
18 | In a transmission line, if a booster transformer are to | & CRITERM @13 |, G TR SRIBIAR BT UM
be used, preferred location will be: ICRIRSIGI % ar ifmIfAd R = g
A)At the receiving end B) At the sending end A) UT9&H BR W B) YT B8R R
C) At the intermediate point D) Anywhere in the line | ¢) geradf fdg wR D) @rs H el v
19 | Insulators for high voltage applications are tested for: I dlecsl SUANT o fo1U TR Sgciex &l by il
A) Power frequency tests ~ B) Impulse tests 1 TRIeI0T o el &:
C)Both A and B D) None of the above | A) UTaR 3gfi TRi&mor B) S{TATT TRI&f0T
C) SRIFI A SIRBIH D) SR H ¥ His Aol
20 | The electrical breakdown strength of insulating faggq A gerdf faqgata faeR wfed FafeRaa o

materials depends on:

A) Nature of applied voltage

B) Imperfections in dielectric material
C) Pressure, temperature and humidity
D) All of the above

Y PR et 7
INERERES dlvgfxﬂﬁ? WY R
B) TRTdggd yard # Sfquidr W)
C) S&Td, AYHM 3R TSl R
D) SWRIad gt
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21 | Which of the following gas has been used as | FHfeiRId & ¥ fovd 199 1 SualT fagga Sua=un &
insulating medium in electric appliances? faggq Aeft el & Tu A fan Gﬂ?ﬂ 87
A) Nitrogen B) Carbon dioxide A) ATSCIeH B) oqu SRS CRIES)
C)Sulphur hexafluoride D) Freon C) g
22 | Electromechanical breakdown of solid insulating 3 faggq 1t uard &1 ﬁ?ﬂﬂmﬁﬁﬂ fapR fog
materials occurs due to: PSR BIdT %?
A) Magnetic hum B) Vibrations A) 91T gH B) U
C)Mechanical stresses produced by the electric field C) fagga &3 GRI I Jddd Ufded
D)Electrical stresses produced by the voltage fluctuations | D) diecsl Swda ¥ 34 [degd a-1d
23 | A 3300/250 V, 50 Hz single phase transformer is | T&% 3300/250 die<, 50 E'L‘Trl R By gNIHER St
built on a core having an effective cross — sectional | f6 125 IR THEt B9 JEF R W 3R HH
area of 125 cm’ and to turn on the low voltage | dlees ATEST Bl Eﬂqaﬂﬁ & foQ S T B 1 S
winding. Then the number of turns on the high | Gieco ATSIST TR Tch ! TS T &2
voltage winding is: A) 663 B) 924 C) 1848 D) 462
A)663 B) 924 C)1848 D) 462
24 | A transformer with 800 primary turns and 200 | T& 100 V A.C T@ls I 800 WU d%h 3R 200
secondary turns is supplied from a 100 V A.C. | fgdiu® =% a 'Q'WU'TITTT G4l afrqj%f & I gl
supply. Calculate the Secondary Voltage: fgciae dieesl 1A DIfo:
A)400 V B)25V C)250V  D)40V A)400 V B)25vV 0250V D)40V
25 | A transformer with 800 primary turns and 200 | T&% 100 V A.C 9@z ¥ 800 WY& d% SR 200
secondary turns is supplied from a 100 V A.C. Wwaﬁmﬁ errrqj%f oI o1 g1 e
supply. Calculate the Volts per turn: gfcl Tsh 1 DIor:
A)0.25 B) 8 C)4 D) 0.125 A)0.25 B) 8 C) 4 D) 0.125
26 | A 25 KVA transformer has a voltage ratio of | 25 KVA SRIBIHR H forad dieest SUTd 3300/400 V
3300/400 V. Calculate the Primary and Secondary | &1 T 3R fydias ae I Hifvm:
Currents: A) 16 A, 132 A B) 758 A, 625 A
A)16 A, 132 A B) 7.58 A, 62.5 A C) 13.2A, 160 A D) 6.25A, 75.8 A
C)13.2 A,160 A D)6.25 A, 75.8 A
27 | Which of the following is minimized by laminating | fGfciRad ¥ ¥ 1 gedT § Il TABER &I HR
the core of a transformer: Ueford & S &:
A)Hysteresis loss B) Eddy Current loss A) AT BT B) HaR YRT B
C)Heat loss D) All of the above C) ™I g™ D) SWRIad gt
28 | Iron loss in transformer occurs in: E'HTFIﬁT T A8 319 ®al Eﬁ?ﬂ %7
A)Core B) Winding A) BR B)
C)Insulating Oil D)Main Body Q) A dd D) B4 dist
29 | Under no load condition, which of the following loss | I @ls /@1 H, AAfIRGd & T S A1 g1 110
is negligible? 87
A)Hysteresis loss B)Eddy Current loss A) IR B B) HaR YRT BN
C)Copper loss C) diF g™
D)ALI losses have same magnitude D) i Bl H gu gfeHToT %
30 | Copper loss in a transformer occurs in TRIBTER | 1Y g1 $ol oidl &
A) Core B) Winding A) BR B) aTg&T
C) Main Body D) Bushing C) T D) §fR0T
31 | For a transformer, the condition for maximum Th E'I?[Cb'l'lﬁ T, forg ggm fl 3feHH g&rdr gI:
efficiency is: A) e B = HaR URT B
A) Hysteresis loss = Eddy Current loss B) HR 31 = /I B
B) Core loss = Hysteresis loss OGILIEIGE IR
C) Copper loss = Iron loss D) A BN = % x A gl

D) Total loss =% x Copper loss
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32 | Eddy Current losses in a transformer core can be TH CRIHIER HR | HaR URT N ! {69 TSR HH
reduced by: %CIT ST Gehell 82
A)Reducing the thickness of laminations A) Ucdl &1 Hicrs $H R
B) Increasing the thickness of laminations B) Ucdl & HieTs H gfg o
C) Increasing the air gap in the magnetic circuit C) 919 Ffhe T aTelt o8 & gfg ax
D)Reducing the air gap in the magnetic circuit D) 9ad I gfche o Wil ST Bl HH B
33 | In a transformer, the magnetic coupling between the | T& CHIR T, WUfH® 3R fedia® Afhe & o
Primary and Secondary Circuit can be increased by: | &g G P! fhg YHR TR ST Tbdl 87
A) Increasing the number of turns A) b P G § gfg HR
B) Using soft material for windings B) ATSf&™g & foru v\ uerf &1 IuanT R
C) Using the magnetic core of low reluctance ¢) 5 fagEdr & da® g R &1 ST HR
D) Using transformer oil of better quality D) 98} TOreT G E‘Iﬂlﬁlﬂ? U BT SYART IR
34 | Which loss in a transformer varies significantly with CIIBIER | B 91 g e & 1Y T &9 9
load? Scadre?
A)Hysteresis loss B) Eddy Current loss A) PR BN B) HaR YRT BT
C)Copper loss D) Core loss C) IT9 g™ D) BR B
35 | The Power factor in a transformer: SRR T UTeaR thaex:
A) Is always unity B)Is always leading A) TR UHHABAIR  B) SURM SIS ST g
C)lIs always lagging C) SHRM AT Bl 8
D)Depends on the power factor of the load D) WS & TR Hhaex R AR Fvar g
36 | At no load, the current taken by a transformer: 2]3& s WX, E‘N’CI'TIﬁT GRI ﬁ'PJIT ] Hc:
A) Lags behind the applied voltage by 80° A) 3T diecs ¥ 80° HH Bidl 3
B) Lags behind the applied voltage by 50° B) 3{IUgad diecdl ¥ 50° HH gial ?
C) Leads the applied voltage by 50° C) SIUgad ?ﬁéﬁr ¥ 50° H1ET gI 8
D) Leads the applied voltage by 80° D) 3V diecs § 80° T1GT BidT
37 | A short circuit test on a transformer gives: TP CNIHIR R, RMC Hidhe TRI&01 T GM?
A) Copper losses at full load A) 110f dls IR a3
B) Copper losses at half load B) 3itf WIS IR A1 BT
C) Iron losses at any load ) fodt f e W g B
D) Sum of iron losses and copper losses D) T8 B 3R a1 §19 &7 a1
38 | A step up transformer increases: S TFImIER [had gig ol 67
A)Power B) Power factor A) JTaR B) UTaR thaex
C)Voltage D) Frequency C) diecs D) 3afi
39 | In a step down transformer: TR ST H:
A)Secondary turns are less than Primary turns A) W h T I A FH I &
B)Secondary power is less than Primary power B) feditae wifed wufiyes feq 9 A Eldl @
C)Phase shift is always 180° C) el fRrue ga=m 180° Bldt @
D)Secondary current is always more than Primary current D) fediae e gax Urifie oic T 3w giar g
40 | In high frequency transformers: I G TBER -
A) Carbon cores are used A) PTE BR BT STANT fHar Sirar %
B) Wooden cores are used B) BISIY HR BT ITANT b1 STl
C) Ferrite cores are used C) BRIZC BR BT IGAN fobar rar g
D) Aluminum cores are used D) TegHia| SR BT ST fbar o1 @
41 | Open circuit test on a transformer yields: T Z{Iﬂﬂv‘lﬁ? R, 3T Fithe URterur o1 32
A) Core losses A) HR N
B) Copper losses B) ¥ BT
C) Sum of core and copper losses C) R 3R dY B BT AN

D)Leakage of reactance

D) RuadT &1 fvarg
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42 | The leakage flux in a transformer depends upon: Teh TR T 41 Uarg g iR MR ol g2
A) Load current B)Load current and voltage | A) dIS e B) TS HC 3R dleedl
C)Load current, voltage and frequency C) TS BT, dieesl 3R 3MgRI
D) Load current, voltage, frequency and power factor D) @IS e, dieey, MR 3R uraR Ty
43 | Which of the following is not a routine test on fafeied § 9 oF 91 TmiR R Te Fafid
transformer? TRI&T 76 &7
A) Polarity test B)Radio interference test A) TIATRET ey B) XSl STty URT&fur
C)Core insulation voltage test C) DR Y dlecel GRI&T
D)Impedance test D) 3UIe~ Ti&mr
44 | In a transformer, if peak voltage is fed to primary: T CIhIER 1, gf¢ Ui diecsl TTUiHe & fear
A) The iron loss will be less ST € o
B) The iron loss will be more A) A BRI BHBIT  B) dIg 1 3MT® BRI
C) The copper loss will be less C) AU G HHAGT D) Jsool Y 3P BRT
D) The windage loss will be more
45 | The function of transformer oil in a transformer is: U CHIBIR H, TRIBTHR dd &1 &1 ST Bidl o
A) To provide insulation and cooling A) SIORA 3R e UGH BT
B) To provide protection against lightening B) farotefl T TR&M Ua™ &=l
C) To provide protection against short circuit C) RIC Fidhe A YRE&T UGH HAl
D) To lubricate the moving parts D) Ierd goil &) eI
46 | Buchholz relay is used on: R el BT SUINT ford TR Tl SIrell &
A) Air cooled transformers B) Oil cooled transformers | A) GR-XfIdferd SRBRR  B) dd-2idferd grIHBIHER
C)Welding transformers ~ D)Furnace transformers C) afegT gmqm:f\r D) g @qtmﬁq
47 | In a distribution transformer, normally: T fqavu c HETHR |, I
A) Core losses are equal to copper losses A) BR B9 19 819 & SRIeR 8IdT 3
B) Core losses are more than copper losses B) HR BT d¥ 819 ¥ 4 gt &
C) Core losses are less than copper losses C) HR B a9 3 Y HH gIdl ?
D) Core losses are half of the copper losses D) $R M dTH 81 DI YT BT
48 | A Buchholz relay will operate in a transformer whenever | §Riieql Ral CBIR | BT BT o HH H:
there is: A) TS 3fidRe® Gy IR
A) Large internal fault B) ﬂaﬁ'ﬂﬁ gfhe o1 gqﬁ%[ R
B) Saturation of magnetic circuit 0) RUR T D) SR & A 1S off
C) Overload D) Any of the above
49 | A transformer can have zero voltage regulation at: Tdh CBTHR T Y e [ARTHT & g
A) Zero power factor  B)Lagging power factor A) A IR Thdex R B) QI UTaR ek TR
C)Leading power factor D)Unity power factor C) TST UGk HhaeX IR~ D) TehH TTeR thdex TR
50 | An autotransformer is used: T SHiCICIhIHR $T IGANT {1 oIl &
A) When operator is not available A) T8 3TIRER IUAS a1 il
B) When copper losses are to be reduced B) 91§ OTH BT HH H<1 8Idl §
C) When higher efficiency is desired C) O1d S G&fdT difesd Bl &
D) When the transformation ratio is small D) S& URdd 3/Urd &H gidl &
51 | If the transformer core is made of copper: afg thb‘l'ﬁh PR dig I S g, a:
A) Copper loss will be less A) 19 B & g
B) Eddy current loss will be more B) HaR YRT B Hfd g
C) Hysteresis loss will be more C) AT BT 3Hfb g
D) None of the above D) SWIEd § 9 ®1 el
52 | The efficiency of the two identical transformers S IR T &l T CIABIER DI G&fd [ gRI

under load conditions can be determined by:
A)Back to back test B)Open circuit test
C)Short circuit test D)Any of the above

fRyifed &t o gl &
A) SF T 9 TRIET
C) TITe Ffdhe e

B) MU Tfche uierur
D) SWRIgd H T &I ot
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53 | If a transformer core is made of copper and coils are | TG TPH TAHIR DR e J &1 § 3R Higd ©Id
made up of steel wire, then: AR I § 1 % ar:
A) Magnetizing current will be reduced A) BRETRIT e &1 g1 S
B) Copper loss in the winding will be more B) IS  aTH BT 31 gm
C) Eddy current loss will be less C) YaR YRT BT HH BRI
D) All of the above D) SuRtad aHt
54 | Which of the following loss in a transformer is zero | U& SRIBTHR | FURId # ¥ HIF 91 319 YUl R
even at full load? R H = Bil &
A) Eddy current loss B)Hysteresis loss A) HIR YRT g™ B) A E’H
C)Core loss D)Friction loss C) PR BN
55 | In Scott connections the main transformer has centre | ¥hic H=aRM H GBI ¢ EWTFITT? ° W <O gl &
tap on: A TG R R B) Rdlue aEim w
A) Primary windings B)Secondary windings | C) Urufiies 3R fgcfius aRfE i =
C)Both primary and secondary windings D) SRIad | Y BIg el
D)None of the above
56 | A Tap changer is used on a transformer for: SRIBIER H ¢ ToR &1 SUANT foharerd far SidT g7
A)Adjustment in primary voltage A) U dicesl H AR & forg
B) Adjustment in secondary voltage B) %?ﬁtﬁ diecol & g & forg
C) Adjustment in both primary and secondary C) UMYt 3R fadias dices # TS & fo
voltage D) UIeR thaex H JHRiSH & fore
D) Adjustment in power factor
57 | Over currents in a transformer affect: UH CIBTHR | 3ifee Hee o THIfad H-dl 67
A) Insulation life B)Temperature rise A) srﬁa-‘llﬂ GIELY B) 'EITCI'HHT{@
C)Mechanical stress D)AII of the above C) FifA® ara D) SWRIad gt
58 | A current transformer can be used with which of the | FYC THBIR &I ITANT ﬁ?ﬁf@ﬁ T3 frg
following instruments? ISR & Ty FpT o Wapell 27
A)Ammeter B)Wattmeter A) TR B) AlcHIeY
C)Watt hour meter D)Any of the above C) dIc 3R Hicx D) SR H § PIg ot
59 | Which of the following is not a fitting on the Fafafad & 9 w1 SBER R Te e 761 87
transformer? A) SR B) oA
A)Breather B)Conservator C) IRl fad D) IR
C)Buchholz relay D)Commutator
60 | The reactance of the transformer depends on: CIIPIR ®I RUEY v TR R Fxt 62
A)Size of core B) Size of tank A) DR BT HR B) ¢& BT HR
C)Leakage flux D)AII of the above Q) ﬁﬂﬁ Hdig D) SWRiad It
61 | If the frequency of supply voltage is doubled, which | Tfc T@g dlecs &I 3MGRI ST &1 ST &, A DA
loss will increase? T 81 d¢ SIe ?
A)Eddy current loss B)Hysteresis loss A) HR YRT 3N B) YT BT
C)Copper loss D)None of the above C) I gl D) SWIF & I DTS el
62 | In which of the following transformer, part of | FHAfRIa H ¥ frd CIHIER o, Ul ARIET &1
primary winding also serves as the secondary | fexar fgcdias aRfén & Tu d Wt wif Eayll K
winding? A) ST TABIR B) ICT
A)Step up transformer ~ B)Current transformer | C) UI¢Xgd CIABIR D) SiferTIamIER
C)Potential transformer = D)Autotransformer
63 | Which of the following frequencies has the longest | FHferiRdd fovar smafy & we st 3afd giht 62
period: A1 B’éﬁf
A)l Hz B) 10 Hz B) 10 B¢W
C)1 KHz D)10 KHz Q)1

D)10m6‘é\—:r
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64 | Which device convert AC into DC: I T JYBUT AC I DC H URAfdd bl 57
A)Rectifier B)Inverter A) AFHRR B) S=ACX
C)Thyristor D)Dynamo C) USRER D) S

65 | Which colour of wire shows phase wire generally in | &1 ¥ 3 &1 IR YHM: TR &I dRI H B¥ dR
house wiring? e Rid B 82
A)Black B)Red C)Green D)Blue A) DIdl  B) Al o=l D) el

66 | Earth electrode resistance: sﬁaag TfaRIe:

A)is resistance of an earth electrode to earth A) gt £ e ¥ Y 3aacie & uieRiY g
B)is resistance of an earth electrode to bus bar B) 99 SR & WgH T Y Saiac IS HT UfkIy §
C)is resistance of an earth electrode to conductor C) HedR P Yoo H Y 3oaeIs FIURRIY §
D)is resistance of an earth electrode to neutral D) Ted & T # Y sadeis FTURRIY §

67 | Electrical potential of earth at any point is foreit 2t foig WR geat ot fagygd amdr & URURe
conventionally taken as: U Y 1 fora o |2
A)l B) 0 C) D) 0.1 A) 1 B) 0 C) o D) 0.1

68 Grounding is: SIS
A . : A) P T T T UICH T IS H HrAaR

)Connection of current carrying parts to ground R T B 3
B)Connection of non-current carrying parts to ground B) T R PTASS ch'-1 R
C)Connection of any body to ground which is non C) W W age ﬁ?ﬁ axg PTUSS SERCAR]
current carrying D) Sff fUcg &1 SCHARM
D)Interconnection of earthing pits

69 | Which is not a type of earthing? Fafied § 9 oW T T H1 ISR T8l §
A)System earthing B)Equipment earthing A) Rreeq sifdfa B) JUHRUT YT
C)Static and lightening protection earthing ) RfIw MR foTelt TReor il
D)Balance earthing D) T ST

70 | Which of the following is/are type of electrodes? FafRed & 9 ®F 91 3adcis &1 UHR 87
A)Plate electrodes B)Pipe electrodes A) W gdaeis B) UIRY oIS
C)Rod electrodes D) All of the above C) AT TATRIS D) SWidd 94t

Section B (Question No. 1 to 30)

1 | In an examination, out of 480 students 85% of the U TRIeM |, 480 BHEI H ¥ 85% Fﬁﬁv_ﬁﬁ 3R 70%
girls and 70% of the boys passed. How many boys TSP 30l gU| afe udten H g 75 ufawra wiemdf
appeared in the examination if the total pass 3ol Y dl b dso Wien 7 IufRa gW
percentage was 75%? A) 370 B)340  C)320 D) 360
A)370 B)340 (C)320 D) 360

2 | By selling a hard disk for Rs 475, a person loses 5%. | 475 S0 H g8 S SAHR, U Gd Bl 5% HI
To get a gain of 5 %, he should sell the hard disk for | THUM BT 3| 5% T AH UM & g, IV BT &%
A)Rs 500 B) Rs 525 foa o sl TfRu
C) Rs 535 D) Rs 575 A) 500 % B)525% ()535% D)575%

3 | The average age of all the students of a class is 16 TSH Hefl SH] DI Ghﬂ?l 16 TN | ASH! BI AN
years. The average age of boys is 21 years and that of | 3g 21 ¥ § 3R a@,‘%q’r Y 12 98 21 e B A
girls is 12 years. If the number of girls in a class is 10, | TSPl Bt TBAT 10 B, A ASD! B! TS Jidl DIoT|
find the number of boys. A) 12 B) 8
A)12 B) 8 ) 11 D) 4
C) 11 D) 4

4 | A Woman introduces a person as the son of the T HAiedl Uh Afqd 1 3T A & HTS BT a9t SdTal

brother of her mother. How is the man related to the
women?

A)Son

B)Husband

C)Cousin

D)None of these

T Afgen § ufed &1 ddy R1 82
A) T3

B) Ufdl

C) TR/ /HRIRT/ G hRT

D) 518 q P13 el
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5 | Which of the followings is not covered under operation | Rgfead & T T TRIA WH e & aftyfera 7=t
Greens mission? frarmare?
A)Onion B)Potato = C)Tomato  D)Ginger A) TS B) 3Td. C) THIER DEME
6 | Which of the following is a wildlife sanctuary in Fufefed 7 O o9 99 Uew H T a-eid
Madhya Pradesh? SHIRTY §?
A) Keoni Wildlife Sanctuary A) B3 TS HIRTY
B) Barnawapara Wildlife Sanctuary 9 UIRTY
C) Bhimbandh Wildlife Sanctuary E; ?ﬁ;;};lég;ﬂ; I:N-GI;'ITUG
D) Rajgiri Wildlife Sanctuary D) SRR IS SAHIRTG
7 | Covaxin is developed by: DI fdar gRI fadb R &1 Tt g2
A) Bharat Biotech B) Cipla A) HRd SRIICH B) Rywm
C)Ranbaxy D) Novartis C) et D) Aarfég
8 | World Health Day is observed on: 9y Wy fgawq &e g4 o7 d €7
A) 7™ April B) 8™ April A) 7 30 B) 8 30T
C) 9™ April D) 10" April ) 9 3l D) 10 31
9 | Punjab and Haryana High Court declared which river as | Gollg 3R gRAT0N 3= <maTad A {6y A<t &1 Sfifdd
a living entity: 3PTs UG fhar &:
A) Sukhna B)Amrit Sarovar A) g B) 31d WIR
C)Kanjli D)Karna C) olalt D) Ul
10 | “Operation Namaste” is associated with: "JHTORRA TR e ¥ HaiRd &2
A) Indian Army B)Indian Navy A) HRATG BT B) YRGTF =1
O)Indian Air Force D)Border Security Force C) YRAT ag 1 D) T TRE 9
11 | Which crop is sown on the largest area in India? HRd H gy a% & R I Il HId Eﬁ'sc STl 82
A)Rice B) Wheat A) TG B) TIg
C) Sugarcane D) Maize C) T D) HaHT
12 | For which of the following disciplines is Nobel Prize %ﬁaﬁ RIPR Fafeied # 9 fow fawa & fore fear Srar
awarded? ?
A)Physics and Chemistry ~ B)Physiology or Medicine | A) Hifaes! 3R I80=—I= B) fohforararen ar ffere
C)Literature, Peace and Economics D)All of the above | c) grfiee, Tifd oiR erfea D) IRiad g+t
13 | Whose creations are Harshcharitra and KadamBari? TYARS 3R HIcer] [paP! AT g7
A)Kalhan B) Panini A) HEU B) TTfO
C) Bana Bhatta D) Patanjali C) 99 Yg D) Ucwifel
14 | When the India launched Targeted Public Distribution YR - 18I Aol [qaRul Yullell Hd Y& P ?
System? A) 1995 B) 1996  ()1997 D) 1998
A) 1995 B) 1996 C) 1997 D) 1998
15 | Panini was...... o o .....
A) a Greek philosopher A) TF A GRifFE
B) an Indian astronomer and famous mathematician B) Ush URAIT TG 3R Ui Tioraw
C) a Sanskrit grammarian of Vedic times C) Afeh B BT TH &hd HATHI
D) great poet of ancient times. D) U=+ &Td & HEH 1
16 | Which of the following is not a member of the European | F@fIRgd & ¥ M RIUTT TU &1 Uaw e 67
Union? A TN B) frds
A) Greece B)Finland C) Ard D) Zlfnsﬁg fhTen
C)Norway D)United Kingdom
17 | Which river is also called Ganga of South? 9 =7l ®1 gléror &t 17 W} Hel o1l 872
A) Godavari B)Krishna A) Terast B) ST
C)Cauvery D)None of these C) BIa D) 590 A &5 el
18 | Which of the following newspapers was founded by | Rufefad A ¥ forg THRIR U= &t I AgTAT Tieh 3
Mahatma Gandhi in South Africa in 19032 1903 T I 3hihT | B ot 2
A) Indian Opinion B) Harijan A) fegq sifufage B) BIRwH
C)Indian Speaker D)India News ) sfeTm afier D) sfea1 ==
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19 | Which space agency sends 104 satellites in a single | 2017 ® {59 3idRe Toidt 3 T fHXF H 104 ITIE W
mission in 2017? ?
A)ISRO B)NASA A) SR B) T
C)Russian Agency D)China space Agency C) &I Toidt D) Tt Sfafkes Toret
20 | Who among the following received the Bharat Ratna aferiad d 9 fba- YRd & Ayuld &9 A Ugd HRd
award before becoming the President of India? Id TR U foar?
A)R. Venkataraman B)Dr. Rajendra Prasad A) 3R, JbheTHT B) SI. INig UHIG
C)Dr. Zakir Hussian D)W. Giri C) S, fe §ﬁ:{ D) $&9, IRt
21 | Khasi is the main language of which state? Gt fd I Dt IS 67
A)Mizoram B)Nagaland C)Meghalaya D) Tripura | A) fAGIRH ~ B) I C) AU D) ﬁgﬂ
22 | Mount Etna is a famous volcano which is located HARC Tl Ush UG Wfﬂ@ e fRds
in? A) icHT o B) Scell &
A)Argentina B)ltaly C) Afym o D) ftrciidia &
C) Mexico D) Philippines
23 | Which is the largest coffee producing state of YR BT oY §31 DIP] SATGH T DI I g2
India? A) B B) dffaHTg
A)Kerala B)Tamil Nadu C) FleH D) SSUITEI YR
C)Karnataka D)Arunachal Pradesh
24 | Where is the Tungabhadra sanctuary located? GIHST SHUIRUY Dol YA § ?
A)Madhya Pradesh ~ B)Uttar Pradesh A) 7e T B)3TR Wl
C)Karnataka D)West Bengal C) pAlch D) Ufgd da
25 | Ram starts from his house and walks 4 km North, T 30 TR Y T LF i 4 [HH I b, {1 3
then 3 km West, then 8 km south. How distant he is | fooe} uffm, fb= 8 fort <o fezn & Taar g1 9 emm
from his house? W Y fra g8 R 87
A)6 km B)7km  C)5km D)8km |A)6fet B 7fedl s5fedt D)8 el
26 | Which number is wrong in the given series? <1 T8 @ar I DI AT TWReAT 7T &7
1,9, 25, 50, 81 1,9, 25, 50, 81
A)l B)25 )50 D)81 A)1 B)25 ()50 D)81
27 | Pick out the number with the smallest value: FafaRed 4 9 a9 |t Gt g -
A)007 B)0.80 C)0.33 D) 002 A)007 B)0.80 (033 D) 002
28 | If South-East becomes North, North-East becomes | 3FR GU-[RE IR & ST § 3R SR-URd UiH
West and so on. What will West become? B ST 81 < U R ghm 2
A)North-East B)North-West A) STR-RT B) S<R-UfFq
C)South-East D)South-West C) Tf&U-IRe D) Glamr-uigs
29 | “Sputnik V’isa: S V" H8?
A)Coronavirus Vaccine A) BRIFTERRY daiH
B)Geostationary Satellite B) SRzt Yeamge
C)Geosynchronous Satellite ) ARy Yearse
D)Hantavirus Vaccine D) ECTaRRY dRi
30 | Who is known as “The Saint of Gutters”? "Tex & Gd" & & H [ ST Sl 872
A)Baba Amte B)Mother Teresa A) STET 3{THS B) Hax ¢l
C)Anna Hazare D)None of these C) 3T §OIR D) 378 ¥ ®Is T8l




